=M 3 FG Add 9 A)DRPIEIZL DM B SRR

1 BEIC K HIREAB DR

LEIRE:S TM2E 1R
AN ERLISCHB A 106 131 A 25

2 FHR5RH - GREENOREMEANR

EERETOIDEIC
FERR 53 N
BT HEHEER HLEAS
FER YR LE KA EBEHE | BT BEE  0%E 0 85
5H 1 3 1 3 4
6 B 3 9 2 10 12
78 6 9 39 2 2 50 54
8 B 1 10 20 2 29 31
9 A8 1 4 5 5
=5 7 24 75 2 7 97 106
FHELSNOMAMEAR ERSETONZEICH T 5 ERE
SM3HF) EDHRSMEAE (§H3E)
D B
6% 2 hi g
7%
A
23%
SHhE
11% BLE
91%
REBAANOBIEANR
(£33 )
Z0it
8%
R
38%
BB
16%
NEBHAY (BH)
12k HEBD (T5%)
8%
NEBHAY (BR)
8‘y =] g
J sy PR &%a—@z %(Eé'é@
8%




